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- ilmavirta gy = k x

Rei’itys 360° (vakio) k
k | od | 100|125 | 160 | 200 | 250 | 315
od | 100 | 125 | 160 | 200 | 250 | 315 | 400 | A 56 | 65 | 81 | 10,1 | 16,6 | 20,7
A 41 | 56 | 9,2 | 151 | 23,2 | 33,0 | 47,4 11|47 |56/|70]| 87 |14,7|184
5% 37 | 47| 58 | 7,2 | 12,9 | 16,1
21|37 | 50|85 (142 221|316 | 456 mww m 28 | 37 | 46 | 58 | 11,0 13,8
=232 | 45|78 134210302 |438 S|4 19 | 28 | 35 | 43| 92| 11,5
13|28 39| 71 |125]19,9 289 | 42,1 a8 5| ! T 23| 20| 74| 92
©| 4| 23|34 |64 (11,6 |188|27,5|40,3 6| - ) i B 55| 69
< |5 - 28 | 57 |10,8 | 17,7 | 261 | 38,6
|6 - | 22|49 | 99166 |247 | 36,8 = valnaukl
==l : - | 90155 (233|350 A = taysin auki
wlg| - - - 8,1 | 14,4 | 22,0 | 33,3
Rei’itys 180°
k
ed | 100 | 125 | 160 | 200
A 35 | 61 | 87 | 14,3
a 0,24 | 0,29 | 0,36 | 0,43

a = Yyhden reikérivin
sulkeminen pienentaa
k-kerrointa talla luvulla

A = tdysin auki




